i 80DT

160
. 80 8-M6x1.0Px 12 NG 2
65 .65 . C D L e
80 | 8-M6x=1.0PxF12 t
4-097, i £ G D 43 S T
4 =, e P. C. D. 160 :
] / !
) ' |
= F T ! Y
= 7 : "ra ) Iﬁ. [=] E a
22£5“ ¥ | < f I8 2 £
---------- -t - o-fd}l-3-3---
T - ;}Q‘ AN®
o i e =
= 'a. I." g
N —\\ @ ' @ s
' o w
& - & o 6 155
i ol o - .
i e P L W, N 1T 1 18 140
! 1], 1155, 120
! .60
b1 : 15
ks E I i
L. 40 0, 70 . 4413-:] . 1 .
-|JL|- §4 1 1
68 124 68 o [ = [T B8 SR HURERENERNNE e |
= i
; 260 8emsag [ L =
oelg®®lu T T :
a .:




I SRS

HOmErEERE C1 kgf 520  ANDWBITEERE C3 | kaf | 220  ADNHBIGDA(E—) C6 | kgf-m?| 0.03

WHMBVERERE | C2 | kaf | 220 | ADMWBATANE | C4 | kof | 160 | G EME sec. | 30
~ _ eEn .
HRMEEIE | TS | kof-m | TIP AMMBAE | C5 | kgtm T kg 35

£l ADIBAYGD? BIESETCHEANME. F2 QAECGHBRATZ2FRN=20041E.



i 110DT

220
90 90 P. C. D. 150 N o ®
j "I110 8-M8x1.25PxF16 i v o
" I P. C. D. 70 ! ~
4-2 94, g_ﬁl_lt 8:MB8x1.25PxF12 L A
S S e B %P C. D, 220 :
L ___@ . E
@' } ] 5 o
> —
,E_ i~ ,E. : @ 2 9
225° / /60° | & [ B
freeee o fHL- AR &l H--H AN®
.', _-_In_o ¥ .'I E -
S & ©
- N\ o8 /| & 200
® A & o~ 15 185 "
i o S I s 114118 7 160
T e - B wals. S B F| ) el H ) 80
* : — -9 20
© ‘ | [
e T : | y
o ] 70 i
A7 . a8 s a8 i . Ei;? 1 ‘:"5; = i
‘_5._._...? q-——J-————p12 . i ggi‘%gmh—. 3_ ----“-‘__-“.------: _________
-BE 1?u 35 N.'—ﬂque e saffrrr s s s e s sk s .
ele|399c
i 340 = il = K 1 g s s 1

dNwmEFERRE | C1 kgf | 2100  ADWBFEEGE  C3 | kgf | 1000 | AHHMIGD(E—) C6 kgf-m? 1.5x10™

BhmEFITMERE | C2 kaf | 3150 | A KZe e | C4 | kgf | 2500 REf 53 BRI sec. +30

2%hn

BT HE TS | kgf-m o

ADSEAHHE C5 |kgf-m| 540 i kg 550

L ADHAIGD? BECETBEMMNSE. 12 QECHERATRSRAN=2004E.



§ 140DT

280 8-M12x1.75Px %15
140 P, C. D, 190 10N9 g
12?“} 111']35 8-MB8x1.25PxF16 38
8- ©133L i "Ra0 i P. C. D, 90 o e T
b §
N vk | /1 8-M8x1.25PxF16 ;
pifieoes P. C. D. 280 |
o : . / 'y _.__.E Bi'z
g .-'-“n“‘-. ; " B
ik ] was
e AN
=
~lo w9 : 220
| 2] =
ool 2 19 200
(=1
{2 5 180
...... 90
m ¥
o I
S . 25
Ll
© =
L -
i
60 gl""‘- oF :
67 ~Eloom ol 1§ Ae—— |
ol Qe -
100 |, 220 1 100 ogoo-as .-
420 ololYlel®|o “__d_ ___________________
o o i
I

HhmBETERRE  C1 kaf | 1050 | ADBiFEQ@AR | C3 | kgf | 500 | ADMWEIGD(E—)| C6 kgf-m?| 0.07

SEC, *30

HOMmEITMEnE | C2 kaf 720 | NOMEACEENE | C4 | kgf | 350 S EINE

WAMBENE | TS | kgf-m i;? ADMBARE | C5  kgi-m| 53 TR kg 80

AL ADHERGD? REESETEAMNSE. 12 QAECHERATIRS AN =200E.,



i 180DT

8-M12x1.75Px %20
P. C. D, 240
8-M12x1.75Px %20 J4N9 o £
8- 133, P. C. D, 110 4
) 8-M10x1.5P=%20 "
N\ T / P. C. D. 365
//’H? o _
o
= =l
= /
o M~ g 8 3
8 T ] wanfs
R B A%
1= o i 290
i i o) £ 2023 265
ol } © 10 240
..... ] 120
......... .
6 435
L=
i
o} : = : =
.80 || _J165 i 1e5] |||[[ 80 o | for : |
85 210 85 ;'E E:d shllssanaabainazy) i
120 300 120 380 glal@
540 alojde| |S R ——— fommmmme ,
ol o i !
: ; i
Eeul /

i RS H

e ‘ sy |

HhmEFEansE C1 kaf | 1500 | AD#MEFEE®RE | C3 | kaf | 1200 | ADMAGD(E—) C6 kgf-m? 0.23

WHMBYERERE | C2 | kgf | 1100 | ADMBAEMAE | C4 | kof | 960 | SR{UHEIEE —
EHWMEEHE | TS | kgf-m ﬁ;’;’] NDBAIE | C5  kgf-m | 220 iR ka | 180

EL ADEHIGD? EEEEEEMAME. F2 CIECHRERATIZL RN =209301H.



i 250DT

8-M16x2.0Px &25
P.C.D 340 20N g
: 8-M16x2.0Px %20 T NE
8- ®187L 250 P.C.D.150 :
N 8-M12x1.75Px §25
: P.C.D. 510 ;
i R
4
] waf
............ AN
3
g ; -
£ 2 358 !
= 5 320
e ‘ﬂl : 40
o | .
8 : t :
1 85 (||l 1230 i 230 |||| 85, o |7 i § ,
. 105 i 300 i 106 olay |28 | |
150 420 150 2 glé ol ot W
s G — S
le(®|o o SRR Fmmmm ;
e 5 !
I ZRSE

By |

HhmEirEERE | C1 kgf | 2500 | AQHWSEITFEEGE | C3 | kaf | 1900 AH#MAIGDA(E—) C6  kgf-m?2| 0.85

HOBESHBEGE | C2 | kaf | 1800 | ADSBBAZEMNE | C4 | kof | 2250 A4 EUGEL sec. | +30

WHEEENE | TS | kgf-m ﬁg’ NDMBAIE | C5 | kgf-m | 670 TE kg | 450

AL ADHRIGD? EESECEMMNME. F2 AECGHERLIRSFZN=-2001E,



i 350DT

; 700 g "
350 . Ll R
35 [T 316 8-M20x2.5PxE35 0
270 P.C.D, 500 1
oA 50 B-M20x2 5Px 35
2 .C.D, 220
S-022k, SiuR /| /' 8-M16x2.0Px30 z
et P.C.D, 720 92
0
- ] ®ahf
AN
""" i 550
5/45_ 500
18 450
225
= 1
o

u;: ,r/ X . i;
10 |, veats] L] [[19 (2L L | ORTOS SE ;
=] . i
. 400 I :115: g Eﬂ ﬁ?’:ﬂ N 4
" 195 >4 550 * 195 » © e"‘?@ ’E'U:' e!' 3 Y ————— E. ........
: 940 : ol e | |
- i

i RS

HhmErEane  C1 kgf | 4500 @ADBBIFEEKRE | C3 | kgf | 2800  ADMAIGDH(E—) C6 kgf-m? 27

dAOmETHmERE | C2 kgf | 3300 | AMMEREENE | C4 | kof | 3800 ‘ FEf5 BRI sec. +20
3 _ | BED -
HAOMBITFHE TS | kgf-m e AN EHE C5 | kgf-m 1000 Ei kg 1000

L AIBRIGD? BIEENBEMAIAE. E2 C1ECGHERATIZ SR =2090H.



§ 438DT

) 900 R 28N9
-« * 1
T =
" 400 e 400 % 8 ©22
'Fi a
— 340 ol 340 ; 8-M20%2.5PxF40 ¥ 1
N i 400 ’ P.C.D. 560
8-M20x2 5P+F30 i H ) B8-M20x2.5P =340 4
P.C.D.900 10 g P D 280 2
5 i /] S
I 4/ B
T : - R AN
3
(o
| = L=
b 2 ;?-,
) 660 g
55 600 .
w - = £
A 4 A 30 540
. " »
4 " % 270 ;
o
gl ~ :
= | . 3 5
L3 ¥ T F
+ ) -
b
w -
— : =r
1 b
] " — o \
o 1 i ol o @ E 1
N i R RN E
: : o -
- ] et o/ 0| 813 6l|e
. o ¥
L \. I -_.l"
m“- !I X
145 ! x
. 400 i 400 K] ¥
a4 3
P : 500 : -
170 I 700 N P | R *
¥ 1040 d

I RS

HhmSFEaRE C1 kof | 6500 AhWBIFEERBE | C3 | kaf | 3300 ADMRIGDA(iE—) | C6 kgf-m? 10.27

dBOMmErFMERE | C2 kgf | 4600 | ANAOWBECEEINE | C4 | kol | 4500 FERIS WU sec. +20
A ETIIE TS  kgf-m gﬁ?ﬁﬂ ADEHE C5 | kgf-m | 1300 T kg 1450

L AJ4RIGD? BEFETEEMRREE. 12 CIECHIRAR RS R =200,



	格式工厂PicPDF 1+2
	7cfa4b7506c19e761f9a1479ae99cfdd

